		Summary of Bids Receiv	ved			
Sec Descrip CPMS	<ul> <li><b>bject:</b> Stearns School Road Resurfaction: 18-00999-52-RS</li> <li><b>tion:</b> Mill, Patch, and Resurface</li> <li><b>Fin:</b> B-01392</li> <li><b>Date:</b> 6/19/2018</li> </ul>					
<b>Bidder</b> Peter Baker & Son Company Payne & Dolan, Inc.	Address 1349 Rockland Road 28435 W. Route 173	<b>City, State, Zip</b> Lake Bluff, IL 60044 Antioch, IL 60002	<b>Bond</b> Bid Bond Bid Bond	<b>Bid Price</b> \$1,710,734.00 \$1,963,637.88	% Over/Under Eng. Estimate -21.17% -9.51%	<b>\$ Over/Under Eng</b> Estimate -\$459,305.8 -\$206,401.8
Engineer's Estimate				\$2,170,039.85		
Design	IDOT(2)	Contract Bidder	S	ES then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	
Construction	Project File	Request By Mail	N	/Igr Capital Program	nming	

## LakeCounty Division of Transportation

**Return Bid Tabulation** 

Project: Stearns School Road Resurfacing Section: 18-00999-52-RS Description: Mill, Patch, and Resurface CPMS Pin: B-01392 Let Date: 6/19/2018

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & Do	olan, Inc.	Peter Baker & S	on Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	261.0	CU YD	\$50.00	\$13,050.00	\$56.60	\$14,772.60	\$62.00	\$16,182.00
2	21400100	GRADING AND SHAPING DITCHES	942.0	FOOT	\$8.00	\$7,536.00	\$10.30	\$9,702.60	\$20.75	\$19,546.50
3	25200200	SUPPLEMENTAL WATERING	14.0	UNIT	\$45.00	\$630.00	\$250.00	\$3,500.00	\$1.00	\$14.00
4	28000305	TEMPORARY DITCH CHECKS	28.0	FOOT	\$10.00	\$280.00	\$15.00	\$420.00	\$50.00	\$1,400.00
5	35101400	AGGREGATE BASE COURSE, TYPE B	72.0	TON	\$20.00	\$1,440.00	\$18.00	\$1,296.00	\$18.00	\$1,296.00
6	35101800	AGGREGATE BASE COURSE, TYPE B 6"	209.0	SQ YD	\$12.00	\$2,508.00	\$21.00	\$4,389.00	\$27.20	\$5,684.80
7	40200800	AGGREGATE SURFACE COURSE	24.0	TON	\$20.00	\$480.00	\$83.00	\$1,992.00	\$98.00	\$2,352.00
8	40600290	BITUMINOUS MATERIALS (TACK COAT)	45,563.0	POUND	\$0.20	\$9,112.60	\$0.01	\$455.63	\$0.01	\$455.63
9	40600525	LEVELING BINDER (HAND METHOD), N50	20.0	TON	\$150.00	\$3,000.00	\$61.65	\$1,233.00	\$75.00	\$1,500.00
10	40600635	LEVELING BINDER (MACHINE METHOD), N70	961.0	TON	\$65.00	\$62,465.00	\$81.00	\$77,841.00	\$70.40	\$67,654.40
11	40600825	POLYMERIZED LEVELING BINDER (MACHINE METHOD), N50	1,544.0	TON	\$80.00	\$123,520.00	\$97.60	\$150,694.40	\$89.10	\$137,570.40
12	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	2,882.0	TON	\$75.00	\$216,150.00	\$66.00	\$190,212.00	\$51.80	\$149,287.60
13	10603310	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	5,102.0	TON	\$80.00	\$408,160.00	\$75.00	\$382,650.00	\$66.50	\$339,283.00
14	42001300	PROTECTIVE COAT	541.0	SQ YD	\$2.00	\$1,082.00	\$2.00	\$1,082.00	\$2.00	\$1,082.00
15	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,905.0	SQ FT	\$7.00	\$13,335.00	\$10.00	\$19,050.00	\$10.00	\$19,050.00
16	42400800	DETECTABLE WARNINGS	147.0	SQ FT	\$30.00	\$4,410.00	\$65.00	\$9,555.00	\$65.00	\$9,555.00
17	44000158	HOT-MIX ASPHALT SURFACE REMOVAL,2 1/4"	36,053.0	SQ YD	\$2.50	\$90,132.50	\$2.35	\$84,724.55	\$2.30	\$82,921.90

業	LakeCo Division of	Dunty Transportation								
	Section:	Stearns School Road Resurfacing 18-00999-52-RS Mill, Patch, and Resurface		R	eturn Bid Tabula	ition				
	CPMS Pin: Let Date:									
					ſ					
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti		Payne & Do	olan, Inc.	Peter Baker & S	on Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
18	44000159	HOT-MIX ASPHALT SURFACE REMOVAL,2 1/2"	18,055.0	SQ YD	\$3.00	\$54,165.00	\$2.65	\$47,845.75	\$2.45	\$44,234.75
19	44000167	HOT-MIX ASPHALT SURFACE REMOVAL, 4 1/2"	3,313.0	SQ YD	\$4.00	\$13,252.00	\$4.35	\$14,411.55	\$4.10	\$13,583.30
20	44000500	COMBINATION CURB AND GUTTER REMOVAL	1,182.0	FOOT	\$10.00	\$11,820.00	\$8.00	\$9,456.00	\$8.00	\$9,456.00
21	44000600	SIDEWALK REMOVAL	2,028.0	SQ FT	\$2.00	\$4,056.00	\$2.00	\$4,056.00	\$2.00	\$4,056.00
22	44004250	PAVED SHOULDER REMOVAL	209.0	SQ YD	\$10.00	\$2,090.00	\$7.60	\$1,588.40	\$52.00	\$10,868.00
23	44201725	CLASS D PATCHES, TYPE I, 7 INCH	302.0	SQ YD	\$39.00	\$11,778.00	\$50.00	\$15,100.00	\$30.00	\$9,060.00
24	44201729	CLASS D PATCHES, TYPE II, 7 INCH	452.0	SQ YD	\$36.00	\$16,272.00	\$41.00	\$18,532.00	\$30.00	\$13,560.00
25	44201733	CLASS D PATCHES, TYPE III, 7 INCH	1,355.0	SQ YD	\$33.00	\$44,715.00	\$35.00	\$47,425.00	\$30.00	\$40,650.00
26	44201735	CLASS D PATCHES, TYPE IV, 7 INCH	904.0	SQ YD	\$30.00	\$27,120.00	\$35.00	\$31,640.00	\$30.00	\$27,120.00
27	44300100	AREA REFLECTIVE CRACK CONTROL TREATMENT	22,864.0	SQ YD	\$1.50	\$34,296.00	\$1.65	\$37,725.60	\$1.42	\$32,466.88
28	48101200	AGGREGATE SHOULDERS, TYPE B	514.0	TON	\$30.00	\$15,420.00	\$41.50	\$21,331.00	\$35.35	\$18,169.90
29	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	7,313.0	SQ YD	\$33.00	\$241,329.00	\$27.75	\$202,935.75	\$21.40	\$156,498.20
30	50105220	PIPE CULVERT REMOVAL	90.0	FOOT	\$20.00	\$1,800.00	\$20.00	\$1,800.00	\$36.00	\$3,240.00
31	60200805	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	2.0	EACH	\$2,000.00	\$4,000.00	\$5,000.00	\$10,000.00	\$2,500.00	\$5,000.00
32	60250200	CATCH BASINS TO BE ADJUSTED	6.0	EACH	\$400.00	\$2,400.00	\$350.00	\$2,100.00	\$415.00	\$2,490.00
33	60250400	CATCH BASINS TO BE ADJUSTED WITH NEW TYPE 1 FRAME, OPEN LID	2.0	EACH	\$675.00	\$1,350.00	\$650.00	\$1,300.00	\$665.00	\$1,330.00
34	60255500	MANHOLES TO BE ADJUSTED	5.0	EACH	\$500.00	\$2,500.00	\$450.00	\$2,250.00	\$600.00	\$3,000.00

貒	LakeCo Division of	Dunty Transportation												
	Return Bid Tabulation Project: Stearns School Road Resurfacing Section: 18-00999-52-RS Description: Mill, Patch, and Resurface CPMS Pin: B-01392 Let Date: 6/19/2018													
Item No.	Pay Code	Description	Quantity	Unit	Eng Esti Unit Price	mate Extnd. Price	Payne & Do Unit Price	lan, Inc. Extnd. Price	Peter Baker & So Unit Price	on Company Extnd. Price				
35	60260100	INLETS TO BE ADJUSTED	17.0	EACH	\$300.00	\$5,100.00	\$350.00	\$5,950.00	\$465.00	\$7,905.00				
36	60260300	INLETS TO BE ADJUSTED WITH NEW TYPE 1 FRAME, OPEN LID	1.0	EACH	\$650.00	\$650.00	\$650.00	\$650.00	\$715.00	\$715.00				
37	60500050	REMOVING CATCH BASINS	1.0	EACH	\$400.00	\$400.00	\$100.00	\$100.00	\$220.00	\$220.00				
38	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	1,182.0	FOOT	\$40.00	\$47,280.00	\$60.00	\$70,920.00	\$60.00	\$70,920.00				
39	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	3.0	EACH	\$2,500.00	\$7,500.00	\$4,600.00	\$13,800.00	\$4,600.00	\$13,800.00				
40	63200310	GUARDRAIL REMOVAL	124.0	FOOT	\$10.00	\$1,240.00	\$11.00	\$1,364.00	\$11.00	\$1,364.00				
41	67100100	MOBILIZATION	1.0	LSUM	\$68,300.00	\$68,300.00	\$98,500.00	\$98,500.00	\$94,395.00	\$94,395.00				
42	70300100	SHORT TERM PAVEMENT MARKING	42,470.0	FOOT	\$0.50	\$21,235.00	\$0.50	\$21,235.00	\$0.01	\$424.70				
43	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	734.0	SQ FT	\$5.00	\$3,670.00	\$0.01	\$7.34	\$0.01	\$7.34				
44	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	41,204.0	FOOT	\$0.50	\$20,602.00	\$0.01	\$412.04	\$0.01	\$412.04				
45	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	31,675.0	FOOT	\$0.50	\$15,837.50	\$0.01	\$316.75	\$0.01	\$316.75				
46	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	3,321.0	FOOT	\$0.75	\$2,490.75	\$0.01	\$33.21	\$0.01	\$33.21				
47	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	3,913.0	FOOT	\$1.00	\$3,913.00	\$0.01	\$39.13	\$0.01	\$39.13				

業	LakeCo Division of 1	Dunty Fransportation										
	Project:	Stearns School Road Resurfacing		R	eturn Bid Tabula	ation						
	-	18-00999-52-RS										
	•	Mill, Patch, and Resurface										
	CPMS Pin: Let Date:											
	Let Date.	0/15/2010										
	Davi Carda	Description	Overstitus	11	<b>5 5</b>					0		
Item No.	Pay Code	ay Code         Description         Quantity         Unit         Eng Estimate         Payne & Dolan, Inc.         Peter Baker & Son Company           Unit Price         Unit Price         Extnd. Price         Unit Price         Extnd. Price         Unit Price         Extnd. Price         Extnd. Price         Unit Price         Extnd. Price         Unit Price         Extnd. Price         Unit Price         Extnd. Price         Unit Price         Extnd. P										
48	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	229.0	FOOT	\$2.00	\$458.00	\$0.01	\$2.29	\$0.01	\$2.29		
49	70300904	PAVEMENT MARKING TAPE, TYPE IV 4"	9,283.0	FOOT	\$0.50	\$4,641.50	\$1.00	\$9,283.00	\$0.01	\$92.83		
50		THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	734.0	SQ FT	\$5.00	\$3,670.00	\$3.75	\$2,752.50	\$3.75	\$2,752.50		
51	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	40,754.0	FOOT	\$1.00	\$40,754.00	\$0.50	\$20,377.00	\$0.50	\$20,377.00		
52	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	31,225.0	FOOT	\$1.50	\$46,837.50	\$0.55	\$17,173.75	\$0.55	\$17,173.75		
53		THERMOPLASTIC PAVEMENT MARKING - LINE 6"	3,321.0	FOOT	\$2.00	\$6,642.00	\$0.70	\$2,324.70	\$0.70	\$2,324.70		
54		THERMOPLASTIC PAVEMENT MARKING - LINE 12"	3,913.0	FOOT	\$2.50	\$9,782.50	\$1.40	\$5,478.20	\$1.40	\$5,478.20		
55	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	229.0	FOOT	\$4.00	\$916.00	\$4.00	\$916.00	\$4.00	\$916.00		
56	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	450.0	FOOT	\$1.00	\$450.00	\$1.00	\$450.00	\$1.00	\$450.00		
57	78009005	MODIFIED URETHANE PAVEMENT MARKING - LINE 5"	450.0	FOOT	\$1.00	\$450.00	\$1.25	\$562.50	\$1.25	\$562.50		
58	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1.0	EACH	\$4,500.00	\$4,500.00	\$440.00	\$440.00	\$440.00	\$440.00		
59	88600600	DETECTOR LOOP REPLACEMENT	112.0	FOOT	\$15.00	\$1,680.00	\$17.30	\$1,937.60	\$17.30	\$1,937.60		

業	_akeCounty Division of Transportation
---	--

**Return Bid Tabulation** 

Project: Stearns School Road Resurfacing Section: 18-00999-52-RS Description: Mill, Patch, and Resurface CPMS Pin: B-01392

Let Date: 6/19/2018

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Payne & De	olan, Inc.	Peter Baker & S	on Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
60	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1.0	EACH	\$5,000.00	\$5,000.00	\$1,760.00	\$1,760.00	\$1,760.00	\$1,760.00
61	89502376	REBUILD EXISTING HANDHOLE	1.0	EACH	\$2,750.00	\$2,750.00	\$2,335.00	\$2,335.00	\$2,335.00	\$2,335.00
62	LC200051	REJECTED LOAD TRANSPORTATION	1.0	LOAD	\$100.00	\$100.00	\$500.00	\$500.00	\$250.00	\$250.00
63	LC200052	EXCAVATING EXISTING SHOULDER	161.0	UNIT	\$200.00	\$32,200.00	\$200.00	\$32,200.00	\$218.00	\$35,098.00
64	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	3,425.0	UNIT	\$1.00	\$3,425.00	\$1.00	\$3,425.00	\$1.00	\$3,425.00
65	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	45.0	FOOT	\$10.00	\$450.00	\$1.00	\$45.00	\$18.00	\$810.00
66	LC600200	INSTALL SURVEY MONUMENTS	11.0	EACH	\$150.00	\$1,650.00	\$1,000.00	\$11,000.00	\$350.00	\$3,850.00
67	LC782000	GUARDRAIL REFLECTORS	3.0	EACH	\$25.00	\$75.00	\$10.00	\$30.00	\$10.00	\$30.00
68	X0327980	PAVEMENT MARKING REMOVAL - WATER BLASTING	512.0	SQ FT	\$2.00	\$1,024.00	\$4.00	\$2,048.00	\$4.00	\$2,048.00
69	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	2,781.0	SQ YD	\$5.00	\$13,905.00	\$5.00	\$13,905.00	\$5.90	\$16,407.90
70	X5870015	BRIDGE DECK CONCRETE SEALER	6,987.0	SQ FT	\$2.00	\$13,974.00	\$3.00	\$20,961.00	\$1.00	\$6,987.00
71	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	3.0	EACH	\$400.00	\$1,200.00	\$1,000.00	\$3,000.00	\$1,050.00	\$3,150.00
72	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$1,500.00	\$4,500.00	\$1,655.00	\$4,965.00	\$1,000.00	\$3,000.00
73	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$87,800.00	\$87,800.00	\$12,875.00	\$12,875.00	\$37,875.00	\$37,875.00

	LakeCo Division of	Dunty Transportation								
	Section:			R	eturn Bid Tabula	ation				
ltem No.	Pay Code	Description	Quantity	Unit	Eng Esti Unit Price	mate Extnd. Price	Payne & Do Unit Price	lan, Inc. Extnd. Price	Peter Baker & S Unit Price	on Company Extnd. Price
74	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	128.0	EACH	\$40.00	\$5,120.00	\$30.00	\$3,840.00	\$30.00	\$3,840.00
75	X/X30060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	661.0	SQ FT	\$7.00	\$4,627.00	\$1.60	\$1,057.60	\$1.60	\$1,057.60
76	X7830070	GROOVING FOR RECESSED PAVEMENT MARKING 5"	40,626.0	FOOT	\$1.00	\$40,626.00	\$0.25	\$10,156.50	\$0.25	\$10,156.5
77	X7830072	GROOVING FOR RECESSED PAVEMENT MARKING 6"	31,163.0	FOOT	\$1.25	\$38,953.75	\$0.45	\$14,023.35	\$0.45	\$14,023.3
78	X/X300/4	GROOVING FOR RECESSED PAVEMENT MARKING 7"	3,089.0	FOOT	\$1.75	\$5,405.75	\$0.50	\$1,544.50	\$0.50	\$1,544.50
79	X7830078	GROOVING FOR RECESSED PAVEMENT MARKING 13"	3,264.0	FOOT	\$4.00	\$13,056.00	\$0.80	\$2,611.20	\$0.80	\$2,611.2
80	X7830090	GROOVING FOR RECESSED PAVEMENT MARKING 25"	94.0	FOOT	\$5.00	\$470.00	\$1.60	\$150.40	\$1.60	\$150.4
81	XX003168	WORKZONE PAVEMENT MARKING REMOVAL, SPECIAL	9,283.0	FOOT	\$0.50	\$4,641.50	\$0.25	\$2,320.75	\$0.25	\$2,320.7
82	XX006343	SEEDING (COMPLETE)	828.0	SQ YD	\$10.00	\$8,280.00	\$12.75	\$10,557.00	\$8.50	\$7,038.0
83	XX006344	SODDING (COMPLETE)	571.0	SQ YD	\$15.00	\$8,565.00	\$27.00	\$15,417.00	\$15.00	\$8,565.00
84		HOT-MIX ASPHALT DRIVEWAY REMOVAL AND REPLACEMENT	27.0	SQ YD	\$55.00	\$1,485.00	\$84.42	\$2,279.34	\$53.00	\$1,431.0
85	XX008130	DRAINAGE STRUCTURES TO BE CLEANED AND GROUTED	5.0	EACH	\$800.00	\$4,000.00	\$5,000.00	\$25,000.00	\$605.00	\$3,025.00
86	XX008865	PERMEABLE PLASTIC BERM	33.0	FOOT	\$10.00	\$330.00	\$20.00	\$660.00	\$50.00	\$1,650.00

貒	LakeCo Division of	Dunty Transportation								
				F	Return Bid Tabul	ation				
	Project:	Stearns School Road Resurfacing								
	Section:	18-00999-52-RS								
	Description:	Mill, Patch, and Resurface								
	CPMS Pin:	B-01392								
	Let Date:	6/19/2018								
Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Payne & D	olan, Inc.	Peter Baker &	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
87	Z0033700	LONGITUDINAL JOINT SEALANT	29,078.	FOOT	\$3.50	\$101,773.00	\$2.30	\$66,879.40	\$1.50	\$43,617.00
			Bid Total			\$2,170,039.85		\$1,963,637.88		\$1,710,734.00

業	LakeCo Division of	Dunty Transportation							
	Section:	Stearns School Road Resurfacing 18-00999-52-RS Mill, Patch, and Resurface B-01392	Return	Bid Deta	ails				
	Let Date:	6/19/2018			Fu a Fat				
ltem No.	Pay Code	Description	Quantity	Unit	Eng Est Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	261.0	CU YD	\$50.00	\$13,050.00	\$56.60	\$62.00	\$59.30
2		GRADING AND SHAPING DITCHES	942.0	FOOT	\$8.00	\$7,536.00	\$10.30		\$15.53
3		SUPPLEMENTAL WATERING	14.0	UNIT	\$45.00	\$630.00			\$125.50
4	28000305	TEMPORARY DITCH CHECKS	28.0	FOOT	\$10.00	\$280.00			\$32.50
5	35101400	AGGREGATE BASE COURSE, TYPE B	72.0	TON	\$20.00	\$1,440.00	\$18.00		\$18.00
6	35101800	AGGREGATE BASE COURSE, TYPE B 6"	209.0	SQ YD	\$12.00	\$2,508.00	\$21.00	\$27.20	\$24.10
7	40200800	AGGREGATE SURFACE COURSE	24.0	TON	\$20.00	\$480.00	\$83.00	\$98.00	\$90.50
8	40600290	BITUMINOUS MATERIALS (TACK COAT)	45,563.0	POUND	\$0.20	\$9,112.60	\$0.01	\$0.01	\$0.01
9	40600525	LEVELING BINDER (HAND METHOD), N50	20.0	TON	\$150.00	\$3,000.00	\$61.65	\$75.00	\$68.33
10	40600635	LEVELING BINDER (MACHINE METHOD), N70	961.0	TON	\$65.00	\$62,465.00	\$70.40	\$81.00	\$75.70
11	40600825	POLYMERIZED LEVELING BINDER (MACHINE METHOD), N50	1,544.0	TON	\$80.00	\$123,520.00	\$89.10	\$97.60	\$93.35
12	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	2,882.0	TON	\$75.00	\$216,150.00	\$51.80	\$66.00	\$58.90

業	LakeC( Division of	Dunty Transportation							
	Section: Description: CPMS Pin:	Stearns School Road Resurfacing 18-00999-52-RS Mill, Patch, and Resurface B-01392 6/19/2018	Return	Bid Deta	ails				
ltem No.	Pay Code	Description	Quantity	Unit	Eng Es Unit Price	timate Extnd. Price	Min Bid Price	Max. Bid Price	Avg Bid Price
13	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	5,102.0	TON	\$80.00	\$408,160.00	\$66.50		\$70.75
14	42001300	PROTECTIVE COAT	541.0	SQ YD	\$2.00	\$1,082.00	\$2.00	\$2.00	\$2.00
15	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5	1,905.0	SQ FT	\$7.00	\$13,335.00	\$10.00	\$10.00	\$10.00
16	42400800	DETECTABLE WARNINGS	147.0	SQ FT	\$30.00	\$4,410.00	\$65.00	\$65.00	\$65.00
17	44000158	HOT-MIX ASPHALT SURFACE REMOVAL,2 1/4"	36,053.0	SQ YD	\$2.50	\$90,132.50	\$2.30	\$2.35	\$2.33
18	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	18,055.0	SQ YD	\$3.00	\$54,165.00	\$2.45	\$2.65	\$2.55
19	44000167	HOT-MIX ASPHALT SURFACE REMOVAL,4 1/2"	3,313.0	SQ YD	\$4.00	\$13,252.00	\$4.10	\$4.35	\$4.23
20	44000500	COMBINATION CURB AND GUTTER REMOVAL	1,182.0	FOOT	\$10.00	\$11,820.00	\$8.00	\$8.00	\$8.00
21	44000600	SIDEWALK REMOVAL	2,028.0	SQ FT	\$2.00	\$4,056.00	\$2.00	\$2.00	\$2.00
22	44004250	PAVED SHOULDER REMOVAL	209.0	SQ YD	\$10.00	\$2,090.00	\$7.60	\$52.00	\$29.80

業	LakeC( Division of	Dunty Transportation							
			Return	Bid Deta	ails				
	-	Stearns School Road Resurfacing 18-00999-52-RS							
		Mill, Patch, and Resurface							
	CPMS Pin:	B-01392							
	Let Date:	6/19/2018							
					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
23	44201725	CLASS D PATCHES, TYPE I, 7 INCH	302.0	SQ YD	\$39.00	\$11,778.00	\$30.00	\$50.00	\$40.00
24	44201729	CLASS D PATCHES, TYPE II, 7 INCH	452.0	SQ YD	\$36.00	\$16,272.00	\$30.00	\$41.00	\$35.50
25	44201733	CLASS D PATCHES, TYPE III, 7 INCH	1,355.0	SQ YD	\$33.00	\$44,715.00	\$30.00	\$35.00	\$32.50
26	44201735	CLASS D PATCHES, TYPE IV, 7 INCH	904.0	SQ YD	\$30.00	\$27,120.00	\$30.00	\$35.00	\$32.50
27	44300100	AREA REFLECTIVE CRACK CONTROL TREATMENT	22,864.0	SQ YD	\$1.50	\$34,296.00	\$1.42	\$1.65	\$1.54
28	48101200	AGGREGATE SHOULDERS, TYPE B	514.0	TON	\$30.00	\$15,420.00	\$35.35	\$41.50	\$38.43
29	48203021	HOT-MIX ASPHALT SHOULDERS, 6"	7,313.0	SQ YD	\$33.00	\$241,329.00	\$21.40	\$27.75	\$24.58
30	50105220	PIPE CULVERT REMOVAL	90.0	FOOT	\$20.00	\$1,800.00	\$20.00	\$36.00	\$28.00
31	60200805	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	2.0	EACH	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	\$3,750.00
32	60250200	CATCH BASINS TO BE ADJUSTED	6.0	EACH	\$400.00	\$2,400.00	\$350.00	\$415.00	\$382.50
33	60250400	CATCH BASINS TO BE ADJUSTED WITH NEW TYPE 1 FRAME, OPEN LID	2.0	EACH	\$675.00	\$1,350.00	\$650.00	\$665.00	\$657.50
34	60255500	MANHOLES TO BE ADJUSTED	5.0	EACH	\$500.00	\$2,500.00	\$450.00	\$600.00	\$525.00
35	60260100	INLETS TO BE ADJUSTED	17.0	EACH	\$300.00	\$5,100.00	\$350.00	\$465.00	\$407.50

業	LakeC( Division of	Dunty Transportation									
	Return Bid Details Project: Stearns School Road Resurfacing Section: 18-00999-52-RS Description: Mill, Patch, and Resurface CPMS Pin: B-01392 Let Date: 6/19/2018										
					Eng Es	timate					
ltem No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price		
36	60260300	INLETS TO BE ADJUSTED WITH NEW TYPE 1 FRAME, OPEN LID	1.0	EACH	\$650.00	\$650.00	\$650.00	\$715.00	\$682.50		
37	60500050	REMOVING CATCH BASINS	1.0	EACH	\$400.00	\$400.00	\$100.00	\$220.00	\$160.00		
38	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	1,182.0	FOOT	\$40.00	\$47,280.00	\$60.00	\$60.00	\$60.00		
39	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	3.0	EACH	\$2,500.00	\$7,500.00	\$4,600.00	\$4,600.00	\$4,600.00		
40	63200310	GUARDRAIL REMOVAL	124.0	FOOT	\$10.00	\$1,240.00	\$11.00	\$11.00	\$11.00		
41	67100100	MOBILIZATION	1.0	LSUM	\$68,300.00	\$68,300.00	\$94,395.00	\$98,500.00	\$96,447.50		
42	70300100	SHORT TERM PAVEMENT MARKING	42,470.0	FOOT	\$0.50	\$21,235.00	\$0.01	\$0.50	\$0.26		
43	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	734.0	SQ FT	\$5.00	\$3,670.00	\$0.01	\$0.01	\$0.01		
44	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	41,204.0	FOOT	\$0.50	\$20,602.00	\$0.01	\$0.01	\$0.01		

業	LakeCo Division of	Dunty Transportation									
	Return Bid Details Project: Stearns School Road Resurfacing Section: 18-00999-52-RS Description: Mill, Patch, and Resurface CPMS Pin: B-01392 Let Date: 6/19/2018										
					Eng Es	timate					
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price		
45	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	31,675.0	FOOT	\$0.50	\$15,837.50	\$0.01	\$0.01	\$0.01		
46	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	3,321.0	FOOT	\$0.75	\$2,490.75	\$0.01	\$0.01	\$0.01		
47	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	3,913.0	FOOT	\$1.00	\$3,913.00	\$0.01	\$0.01	\$0.01		
48	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	229.0	FOOT	\$2.00	\$458.00	\$0.01	\$0.01	\$0.01		
49	70300904	PAVEMENT MARKING TAPE, TYPE IV 4"	9,283.0	FOOT	\$0.50	\$4,641.50	\$0.01	\$1.00	\$0.51		
50	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	734.0	SQ FT	\$5.00	\$3,670.00	\$3.75	\$3.75	\$3.75		
51	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	40,754.0	FOOT	\$1.00	\$40,754.00	\$0.50	\$0.50	\$0.50		
52	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	31,225.0	FOOT	\$1.50	\$46,837.50	\$0.55	\$0.55	\$0.55		

業	LakeC( Division of	Dunty Transportation									
	Return Bid Details Project: Stearns School Road Resurfacing Section: 18-00999-52-RS Description: Mill, Patch, and Resurface CPMS Pin: B-01392 Let Date: 6/19/2018										
ltem No.	Pay Code	Description	Quantity	Unit	Eng Es Unit Price	timate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price		
53	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	3,321.0	FOOT	\$2.00	\$6,642.00	\$0.70		\$0.70		
54	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	3,913.0	FOOT	\$2.50	\$9,782.50	\$1.40	\$1.40	\$1.40		
55	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	229.0	FOOT	\$4.00	\$916.00	\$4.00	\$4.00	\$4.00		
56	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	450.0	FOOT	\$1.00	\$450.00	\$1.00	\$1.00	\$1.00		
57	78009005	MODIFIED URETHANE PAVEMENT MARKING - LINE 5"	450.0	FOOT	\$1.00	\$450.00	\$1.25	\$1.25	\$1.25		
58	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1.0	EACH	\$4,500.00	\$4,500.00	\$440.00	\$440.00	\$440.00		
59	88600600	DETECTOR LOOP REPLACEMENT	112.0	FOOT	\$15.00	\$1,680.00	\$17.30	\$17.30	\$17.30		
60	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1.0	EACH	\$5,000.00	\$5,000.00	\$1,760.00	\$1,760.00	\$1,760.00		
61	89502376	REBUILD EXISTING HANDHOLE	1.0	EACH	\$2,750.00	\$2,750.00	\$2,335.00	\$2,335.00	\$2,335.00		

業	LakeC( Division of	Dunty Transportation									
	Return Bid Details										
	Project: Stearns School Road Resurfacing Section: 18-00999-52-RS Description: Mill, Patch, and Resurface CPMS Pin: B-01392 Let Date: 6/19/2018										
					Eng Es	timate					
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price		
62	LC200051	REJECTED LOAD TRANSPORTATION	1.0	LOAD	\$100.00	\$100.00	\$250.00	\$500.00	\$375.00		
63	LC200052	EXCAVATING EXISTING SHOULDER	161.0	UNIT	\$200.00	\$32,200.00	\$200.00	\$218.00	\$209.00		
64	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	3,425.0	UNIT	\$1.00	\$3,425.00	\$1.00	\$1.00	\$1.00		
65	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	45.0	FOOT	\$10.00	\$450.00	\$1.00	\$18.00	\$9.50		
66	LC600200	INSTALL SURVEY MONUMENTS	11.0	EACH	\$150.00	\$1,650.00	\$350.00	\$1,000.00	\$675.00		
67	LC782000	GUARDRAIL REFLECTORS	3.0	EACH	\$25.00	\$75.00	\$10.00	\$10.00	\$10.00		
68	X0327980	PAVEMENT MARKING REMOVAL - WATER BLASTING	512.0	SQ FT	\$2.00	\$1,024.00	\$4.00	\$4.00	\$4.00		
69	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL, VARIABLE DEPTH	2,781.0	SQ YD	\$5.00	\$13,905.00	\$5.00	\$5.90	\$5.45		
70	X5870015	BRIDGE DECK CONCRETE SEALER	6,987.0	SQ FT	\$2.00	\$13,974.00	\$1.00	\$3.00	\$2.00		
71	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	3.0	EACH	\$400.00	\$1,200.00	\$1,000.00	\$1,050.00	\$1,025.00		
72	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$1,500.00	\$4,500.00	\$1,000.00	\$1,655.00	\$1,327.50		

業	LakeCo Division of	Dunty Transportation								
	Return Bid Details Project: Stearns School Road Resurfacing Section: 18-00999-52-RS Description: Mill, Patch, and Resurface CPMS Pin: B-01392 Let Date: 6/19/2018									
ltem No.	Pay Code	Description	Quantity	Unit	Eng Es Unit Price	timate Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price	
73	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$87,800.00	\$87,800.00	\$12,875.00	\$37,875.00	\$25,375.00	
74	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	128.0	EACH	\$40.00	\$5,120.00	\$30.00	\$30.00	\$30.00	
75	X7830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	661.0	SQ FT	\$7.00	\$4,627.00	\$1.60	\$1.60	\$1.60	
76	X7830070	GROOVING FOR RECESSED PAVEMENT MARKING 5"	40,626.0	FOOT	\$1.00	\$40,626.00	\$0.25	\$0.25	\$0.25	
77	X7830072	GROOVING FOR RECESSED PAVEMENT MARKING 6"	31,163.0	FOOT	\$1.25	\$38,953.75	\$0.45	\$0.45	\$0.45	
78	X7830074	GROOVING FOR RECESSED PAVEMENT MARKING 7"	3,089.0	FOOT	\$1.75	\$5,405.75	\$0.50	\$0.50	\$0.50	
79	X7830078	GROOVING FOR RECESSED PAVEMENT MARKING 13"	3,264.0	FOOT	\$4.00	\$13,056.00	\$0.80	\$0.80	\$0.80	
80	X7830090	GROOVING FOR RECESSED PAVEMENT MARKING 25"	94.0	FOOT	\$5.00	\$470.00	\$1.60	\$1.60	\$1.60	

	LakeCo Division of	Dunty Transportation									
			Return	Bid Deta	ails						
	Project: Stearns School Road Resurfacing										
	Section: 18-00999-52-RS Description: Mill, Patch, and Resurface										
	CPMS Pin:										
		6/19/2018									
					Eng Es	timate					
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price		
81	XX003168	WORKZONE PAVEMENT MARKING REMOVAL, SPECIAL	9,283.0	FOOT	\$0.50	\$4,641.50	\$0.25	\$0.25	\$0.25		
82	XX006343	SEEDING (COMPLETE)	828.0	SQ YD	\$10.00	\$8,280.00	\$8.50	\$12.75	\$10.63		
83	XX006344	SODDING (COMPLETE)	571.0	SQ YD	\$15.00	\$8,565.00	\$15.00	\$27.00	\$21.00		
84	XX006947	HOT-MIX ASPHALT DRIVEWAY REMOVAL AND REPLACEMENT	27.0	SQ YD	\$55.00	\$1,485.00	\$53.00	\$84.42	\$68.71		
85	XX008130	DRAINAGE STRUCTURES TO BE CLEANED AND GROUTED	5.0	EACH	\$800.00	\$4,000.00	\$605.00	\$5,000.00	\$2,802.50		
86	XX008865	PERMEABLE PLASTIC BERM	33.0	FOOT	\$10.00	\$330.00	\$20.00	\$50.00	\$35.00		
87	Z0033700	LONGITUDINAL JOINT SEALANT	29,078.0	FOOT	\$3.50	\$101,773.00	\$1.50	\$2.30	\$1.90		
	Bid Total \$2,170,039.85										